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[ History of Great Britain (1485-1820) ]
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The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence each : 1x7=7
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By what term are the scholars who
brought New Learning to England during
the reigns of Henry VII and Henry VIII
known?
T OF B (AN GRS ST Y
Bt Sjo a1 Rarpieere & S = I/ ?
Which English king was awarded the title
‘Defender of the Faith’ by the Pope?
COICel I 3ATS T e I’ TR
e e 2
What was the Act of Uniformity and
Supremacy (1559)?
G W dweR SR (seed) &
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(2) (3)

(d) What was the ‘Personal Government’ of (d) What do you understand by the ‘Whigs’

Charles 1? and ‘Tories’ ?
' 229 SR Ifeore v’ & wnfea 2 ‘220" o ‘R e R 3@ e

(¢) Who was Edward Hyde, Earl of 3. Write short notes on any three of the
Clarendon? following : Sx3=15
FICITC S, GG FRC (I (R 2 fafeiRe fracams R e ffoR v Grer fors

(/) When was the marriage between Mary of (a) Foreign Policy of Wolsey
York and William of Orange solemnised? oD T e
FE A oA TeIGT TR 7R (Fox (b) Downfall of the Commonwealth
o CRfReT 2 TN TS

(g9 Who invented the ‘Flying shuttle’ ? (c) Petition of Rights (1628)
TR AP @I TR T 2 RPN (Sov)

2. Answer the following in brief : 2x4=8 (d) Sir Thomas More and Utopia
et frarnee syie Tes fr : ‘ B M6 (I S ROCHIAm
- 9.

(@) What were the Anti Papal Acts passed by (e) Sir Robert Walpole / B 3316 I=°1'=1
the Reformation Parliament (1529-36)? 4. Answer any three of the following : 10x3=30
BT RERAM AP (SE5-0%) T2 | frfeiRe i e fofbm Tev foa -
" CARCR STy o ifze 2 (@) “The period of Henry VII’s reign marked

(b) What were the activities of the Jesuits the end of the Middle Ages and start of
during the reign of Queen Elizabeth? the Modern Times.” Explain.
0 GFrEEeE TS (SpRTEE SR S @RI MPAPEICRRR T TG W[
iR 2 : SR o spoeTt fofdes oeq 17 <t o |

(c) What was the ‘Fall of Oxford’ ? How did it (b) “Queen’ Elizabeth’s reigp was one of the
lead to the end of the first Civil War in . =constant struggles against the forces of
England (1642-46)? ! Counter Reformation.” Elucidate.
TECFIOT Ao’ 2 3 R TGS AW pm AN GfTERRT TR AfeTRERIR
(>©83-8%)-7 FxIfey YoIfRET 2 ETRRT e RN TREET 3T ke 17 [y
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(4)

(c) “Cromwell’s greatness at home was a mere
shadow of his greatness abroad.” Justify.
‘IR (PES SR IOl (OS] [T
CFEY VIFOR RAI T AN 17 eyl
=SB <1 |

(d) Discuss the clauses and constitutional
significance of the Bill of Rights, 1689
and the Act of Settlement, 1701 in
establishing the supremacy of the
Parliament in England.

[COS OR Apx  ACER  cFae SRR
Rows, sws S feoifes SRfEe, yaov=
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(e) Why did England participate in the War
of Spanish Succession? How did the
Treaty of Utrecht (1713) make England
the strongest European power?

c=iFR Sefere e Tewe R wwew=
REF? Wwzw v (ddve) W@
= fSove mes R SRl =
IR o2

() How did the Industrial Revolution help
urbanization in England?
T AR TR TS [T R IR ?
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